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{(z, 4), (-1, 5),(2,-3),(0,1),(-1,-3)}

If you have a set (enclosed in braces) and ordered pairs (points)
live inside that set, then you have a relation.
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There are four different ways to let others know exactly which
ordered pairs are in a given relation.

$(2,4),(1,5),(2.-3),(0,1),(-1,-3)}

List the ordered pairs in braces.
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ex1] Create a tahle, a graph, and a mapping for the relation helow.

$(2.9),(1,5),(2.-3),(0,1),(-1,-3)}
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ex2) Create atable, a graph, and a mapping for the relation helow.

$(3,1),(3.-1).(1,1)}

TABLE GRAPH MAPPING
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{(2.8),(4,5),(2-3),(0,1),(-1,-3)}

ex3) The set of x-coordinates linputs) is called the DONAIN .

D-{a,-1,08

exd) The setof y-coordinates (inputs) is called the RANGE .

V\:{q,s,—a/(}
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Solve. —
Jhere ale an
« nfrite number

exs)l X+ 5 — 1 ex6) X+ v — 1 0t solttens!
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GComplete each ordered pair so that itis a solution to the equation helow.

Substitute 14 iaplace + | = Substidute -6 inplace
of x ond then tind ' x v 20 ot y and then €ind %

exn (14, ) ,-6)
Y X
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X+4y=24
ex9) (2,
91( : )
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GComplete the ordered pair so that it is a solution to the equation below.

JN+4y=24

ex10] (7, -1)



